



# Some identities of symmetry for the generalized $q$ -Euler polynomials



Dae San Kim <sup>a</sup>, Taekyun Kim <sup>b,\*</sup>

<sup>a</sup> Department of Mathematics, Sogang University, Seoul 121-742, Republic of Korea

<sup>b</sup> Department of Mathematics, Kwangwoon University, Seoul 139-701, Republic of Korea

## ARTICLE INFO

**Keywords:**  
Symmetry  
Zeta functions  
Generalized  $q$ -Euler polynomials

## ABSTRACT

By the symmetric properties of Dirichlet's type multiple  $q$ - $l$ -function, we establish various identities concerning the generalized higher-order  $q$ -Euler polynomials. Furthermore, we give some interesting relationship between the power sums and the generalized higher-order  $q$ -Euler polynomials.

© 2014 Elsevier Inc. All rights reserved.

## 1. Introduction

Let  $\chi$  be a Dirichlet character with conductor  $d \in \mathbb{N}$  with  $d \equiv 1 \pmod{2}$ . As is well known, the generalized higher-order Euler polynomials are defined by the generating function to be

$$\left( 2 \sum_{a=0}^{d-1} \frac{(-1)^a \chi(a) e^{at}}{e^{dt} + 1} \right)^r e^{xt} = \sum_{n=0}^{\infty} E_{n,\chi}^{(r)}(x) \frac{t^n}{n!}. \tag{1.1}$$

When  $x = 0$ ,  $E_{n,\chi}^{(r)} = E_{n,\chi}^{(r)}(0)$  are called the generalized Euler numbers attached to  $\chi$  of order  $r \in \mathbb{N}$ .

For  $q \in \mathbb{C}$  with  $|q| < 1$ , the  $q$ -number is defined by  $[x]_q = \frac{1-q^x}{1-q}$ .

Note that  $\lim_{q \rightarrow 1} [x]_q = x$ . In [7], Kim considered  $q$ -extension of generalized higher-order Euler polynomials attached to  $\chi$  as follows:

$$F_{q,\chi}^{(r)}(t, x) = [2]_q^r \sum_{m_1, \dots, m_r=0}^{\infty} (-q)^{m_1 + \dots + m_r} (\prod_{i=1}^r \chi(m_i)) e^{[m_1 + \dots + m_r + x]_q t} = \sum_{n=0}^{\infty} E_{n,\chi,q}^{(r)}(x) \frac{t^n}{n!}. \tag{1.2}$$

Note that

$$\lim_{q \rightarrow 1} F_{q,\chi}^{(r)}(t, x) = \left( 2 \sum_{a=0}^{d-1} \frac{(-1)^a \chi(a) e^{at}}{e^{dt} + 1} \right)^r e^{xt}.$$

For  $s \in \mathbb{C}$  and  $x \in \mathbb{R}$  with  $x \neq 0, -1, -2, \dots$ , Kim defined Dirichlet-type multiple  $q$ - $l$ -function which is given by

$$l_{q,r}(s, x | \chi) = [2]_q^r \sum_{m_1, \dots, m_r=0}^{\infty} \frac{(-q)^{m_1 + \dots + m_r} (\prod_{i=1}^r \chi(m_i))}{[m_1 + \dots + m_r + x]_q^s} = \frac{1}{\Gamma(s)} \int_0^{\infty} F_{q,\chi}^{(r)}(-t, x) t^{s-1} dt, \quad (\text{see [7]}). \tag{1.3}$$

\* Corresponding author.

E-mail addresses: [dskim@sogang.ac.kr](mailto:dskim@sogang.ac.kr) (D.S. Kim), [tkkim@kw.ac.kr](mailto:tkkim@kw.ac.kr) (T. Kim).

Applying the Laurent series and Cauchy residue theorem in (1.2) and (1.3), we get

$$l_{q,r}(-n, x|\chi) = E_{n,\chi,q}^{(r)}(x), \quad \text{where } n \in \mathbb{Z}_{\geq 0}. \tag{1.4}$$

When  $x = 0$ ,  $E_{n,\chi,q}^{(r)} = E_{n,\chi,q}^{(r)}(0)$  are called the generalized  $q$ -Euler numbers attached to  $\chi$  of order  $r$ . From (1.2), we note that

$$E_{n,\chi,q}^{(r)}(x) = \sum_{l=0}^n \binom{n}{l} q^{lx} E_{l,\chi,q}^{(r)} [x]_q^{n-l} = \left( q^x E_{\chi,q}^{(r)} + [x]_q \right)^n \tag{1.5}$$

with the usual convention about replacing  $(E_{\chi,q}^{(r)})^n$  by  $E_{n,\chi,q}^{(r)}$  (see [1–13]).

In this paper, we investigate properties of symmetry in two variables related to multiple  $q$ - $l$ -function which interpolates generalized higher-order  $q$ -Euler polynomials attached to  $\chi$  at negative integers. From our investigation, we derive identities of symmetry in two variables related to generalized higher-order  $q$ -Euler polynomials attached to  $\chi$ . Recently, several authors have studied  $q$ -extensions of Euler polynomials due to Kim (see [1–3,9–13]).

## 2. Symmetry of $q$ -power sum and the generalized $q$ -Euler polynomials

For  $a, b \in \mathbb{N}$  with  $a \equiv 1 \pmod{2}$  and  $b \equiv 1 \pmod{2}$ , we observe that

$$\frac{1}{[2]_q^s} l_{q^a,r} \left( s, bx + \frac{b}{a} (j_1 + \dots + j_r) | \chi \right) = [a]_q^s \sum_{n_1, \dots, n_r=0}^{\infty} \sum_{i_1, \dots, i_r=0}^{db-1} \frac{(-1)^{\sum_{l=1}^r (i_l+n_l)} q^{a \sum_{l=1}^r (i_l+bdn_l)} (\prod_{l=1}^r \chi(i_l))}{[ab(x + d \sum_{l=1}^r n_l) + b \sum_{l=1}^r j_l + a \sum_{l=1}^r i_l]_q^s}. \tag{2.1}$$

From (2.1), we have

$$\begin{aligned} & \frac{[b]_q^s}{[2]_q^s} \sum_{j_1, \dots, j_r=0}^{da-1} (-1)^{\sum_{l=1}^r j_l} (\prod_{l=1}^r \chi(j_l)) q^{b \sum_{l=1}^r j_l} l_{q^a,r} \left( s, bx + \frac{b}{a} \sum_{l=1}^r j_l | \chi \right) \\ &= [a]_q^s [b]_q^s \sum_{i_1, \dots, i_r=0}^{db-1} \sum_{j_1, \dots, j_r=0}^{da-1} \sum_{n_1, \dots, n_r=0}^{\infty} \frac{(-1)^{\sum_{l=1}^r (i_l+n_l+j_l)} (\prod_{l=1}^r \chi(j_l)) (\prod_{l=1}^r \chi(i_l))}{[ab(x + d \sum_{l=1}^r n_l) + \sum_{l=1}^r (bj_l + ai_l)]_q^s} \times q^{\sum_{l=1}^r (aj_l+bi_l+abdn_l)}. \end{aligned} \tag{2.2}$$

By the same method as (2.2), we get

$$\begin{aligned} & \frac{[a]_q^s}{[2]_q^s} \sum_{j_1, \dots, j_r=0}^{db-1} (-1)^{\sum_{l=1}^r j_l} (\prod_{l=1}^r \chi(j_l)) q^{a \sum_{l=1}^r j_l} l_{q^b,r} \left( s, ax + \frac{a}{b} \sum_{l=1}^r j_l | \chi \right) \\ &= [a]_q^s [b]_q^s \sum_{j_1, \dots, j_r=0}^{db-1} \sum_{i_1, \dots, i_r=0}^{da-1} \sum_{n_1, \dots, n_r=0}^{\infty} \frac{(-1)^{\sum_{l=1}^r (i_l+n_l+j_l)} (\prod_{l=1}^r \chi(j_l)) (\prod_{l=1}^r \chi(i_l))}{[ab(x + d \sum_{l=1}^r n_l) + \sum_{l=1}^r (aj_l + bi_l)]_q^s} \times q^{\sum_{l=1}^r (aj_l+bi_l+abdn_l)}. \end{aligned} \tag{2.3}$$

Therefore, by (2.2) and (2.3), we obtain the following theorem.

**Theorem 2.1.** For  $a, b \in \mathbb{N}$  with  $a \equiv 1 \pmod{2}$  and  $b \equiv 1 \pmod{2}$ , we have

$$\begin{aligned} & [2]_q^r [b]_q^s \sum_{j_1, \dots, j_r=0}^{da-1} (-1)^{\sum_{l=1}^r j_l} (\prod_{l=1}^r \chi(j_l)) q^{b \sum_{l=1}^r j_l} l_{q^a,r} \left( s, bx + \frac{b}{a} \sum_{l=1}^r j_l | \chi \right) \\ &= [2]_q^r [a]_q^s \sum_{j_1, \dots, j_r=0}^{db-1} (-1)^{\sum_{l=1}^r j_l} (\prod_{l=1}^r \chi(j_l)) q^{a \sum_{l=1}^r j_l} l_{q^b,r} \left( s, ax + \frac{a}{b} \sum_{l=1}^r j_l | \chi \right). \end{aligned}$$

From (1.4) and Theorem 2.1, we obtain the following theorem.

**Theorem 2.2.** For  $n \geq 0$  and  $a, b \in \mathbb{N}$  with  $a \equiv 1 \pmod{2}$  and  $b \equiv 1 \pmod{2}$ , we have

$$\begin{aligned} & [2]_q^r [a]_q^n \sum_{j_1, \dots, j_r=0}^{da-1} (-1)^{\sum_{l=1}^r j_l} (\prod_{l=1}^r \chi(j_l)) q^{b \sum_{l=1}^r j_l} E_{n,\chi,q^a}^{(r)} \left( bx + \frac{b}{a} \sum_{l=1}^r j_l \right) \\ &= [2]_q^r [b]_q^n \sum_{j_1, \dots, j_r=0}^{db-1} (-1)^{\sum_{l=1}^r j_l} (\prod_{l=1}^r \chi(j_l)) q^{a \sum_{l=1}^r j_l} E_{n,\chi,q^b}^{(r)} \left( ax + \frac{a}{b} \sum_{l=1}^r j_l \right). \end{aligned}$$

By (1.5), we easily get

$$E_{n,\chi,q}^{(r)}(x+y) = (q^{x+y} E_{\chi,q}^{(r)} + [x+y]_q)^n = (q^{x+y} E_{\chi,q}^{(r)} + q^x [y]_q + [x]_q)^n = \sum_{i=0}^n \binom{n}{i} q^{ix} (q^y E_{\chi,q}^{(r)} + [y]_q)^i [x]_q^{n-i} = \sum_{i=0}^n \binom{n}{i} q^{xi} E_{i,\chi,q}^{(r)}(y) [x]_q^{n-i}. \tag{2.4}$$

From (2.4), we note that

$$\begin{aligned}
 \sum_{j_1, \dots, j_r=0}^{da-1} (-1)^{\sum_{l=1}^r j_l} q^b \sum_{l=1}^r (\prod_{l=1}^r \chi(j_l)) E_{n, \chi, q^a}^{(r)} \left( bx + \frac{b}{a} \sum_{l=1}^r j_l \right) &= \sum_{j_1, \dots, j_r=0}^{da-1} (-1)^{\sum_{l=1}^r j_l} q^b \sum_{l=1}^r (\prod_{l=1}^r \chi(j_l)) \\
 &\times \sum_{i=0}^n \binom{n}{i} q^{ib \sum_{l=1}^r j_l} E_{i, \chi, q^a}^{(r)}(bx) \left[ \frac{b(j_1 + \dots + j_r)}{a} \right]_{q^a}^{n-i} \\
 &= \sum_{j_1, \dots, j_r=0}^{da-1} (-1)^{\sum_{l=1}^r j_l} q^b \sum_{l=1}^r (\prod_{l=1}^r \chi(j_l)) \\
 &\times \sum_{i=0}^n \binom{n}{i} q^{(n-i)b \sum_{l=1}^r j_l} E_{n-i, \chi, q^a}^{(r)}(bx) \left[ \frac{b}{a} \sum_{l=1}^r j_l \right]_{q^a}^i \tag{2.5} \\
 &= \sum_{i=0}^n \binom{n}{i} \left( \frac{[b]_q}{[a]_q} \right)^i E_{n-i, \chi, q^a}^{(r)}(bx) \\
 &\times \sum_{j_1, \dots, j_r=0}^{da-1} (-1)^{\sum_{l=1}^r j_l} q^b \sum_{l=1}^{(n-i+1)j_l} [j_1 + \dots + j_r]_{q^b}^i \\
 &= \sum_{i=0}^n \binom{n}{i} \left( \frac{[b]_q}{[a]_q} \right)^i E_{n-i, \chi, q^a}^{(r)}(bx) S_{n, i, q^b}^{(r)}(ad|\chi),
 \end{aligned}$$

where

$$S_{n, i, q^b}^{(r)}(ad|\chi) = \sum_{j_1, \dots, j_r=0}^{a-1} (-1)^{j_1 + \dots + j_r} (\prod_{l=1}^r \chi(j_l)) q^{\sum_{l=1}^r j_l (n-i+1)} \left[ \sum_{l=1}^r j_l \right]_q^i. \tag{2.6}$$

From (2.5) and (2.6), we can derive the following equation.

$$[2]_{q^b}^r [a]_q^n \sum_{j_1, \dots, j_r=0}^{da-1} (-1)^{\sum_{l=1}^r j_l} q^b \sum_{l=1}^r (\prod_{l=1}^r \chi(j_l)) E_{n, \chi, q^a}^{(r)} \left( bx + \frac{b}{a} \sum_{l=1}^r j_l \right) = [2]_{q^b}^r \sum_{i=0}^n \binom{n}{i} [a]_q^{n-i} [b]_q^i E_{n-i, \chi, q^a}^{(r)}(bx) S_{n, i, q^b}^{(r)}(ad|\chi). \tag{2.7}$$

By the same method as (2.7), we get

$$[2]_{q^a}^r [b]_q^n \sum_{j_1, \dots, j_r=0}^{db-1} (-1)^{\sum_{l=1}^r j_l} q^a \sum_{l=1}^r (\prod_{l=1}^r \chi(j_l)) E_{n, \chi, q^b}^{(r)} \left( ax + \frac{a}{b} \sum_{l=1}^r j_l \right) = [2]_{q^a}^r \sum_{i=0}^n \binom{n}{i} [b]_q^{n-i} [a]_q^i E_{n-i, \chi, q^b}^{(r)}(ax) S_{n, i, q^a}^{(r)}(bd|\chi). \tag{2.8}$$

Therefore, by (2.7) and (2.8), we obtain the following theorem.

**Theorem 2.3.** For  $n \geq 0$  and  $a, b \in \mathbb{N}$  with  $a \equiv 1 \pmod{2}$  and  $b \equiv 1 \pmod{2}$ , we have

$$[2]_{q^b}^r \sum_{i=0}^n \binom{n}{i} [a]_q^{n-i} [b]_q^i E_{n-i, \chi, q^a}^{(r)}(bx) S_{n, i, q^b}^{(r)}(ad|\chi) = [2]_{q^a}^r \sum_{i=0}^n \binom{n}{i} [b]_q^{n-i} [a]_q^i E_{n-i, \chi, q^b}^{(r)}(ax) S_{n, i, q^a}^{(r)}(bd|\chi).$$

**Remark.** It is not difficult to show that

$$\begin{aligned}
 e^{[x]_q u} \sum_{m_1, \dots, m_r=0}^{\infty} q^{\sum_{l=1}^r m_l} (-1)^{\sum_{l=1}^r m_l} (\prod_{l=1}^r \chi(m_l)) e^{[y + \sum_{l=1}^r m_l]_q} q^{x(u+v)} \\
 = e^{-[x]_q u} \sum_{m_1, \dots, m_r=0}^{\infty} q^{\sum_{l=1}^r m_l} (-1)^{\sum_{l=1}^r m_l} (\prod_{l=1}^r \chi(m_l)) e^{[x+y + \sum_{l=1}^r m_l]_q} q^{(u+v)}. \tag{2.9}
 \end{aligned}$$

Thus, by (2.9), we get

$$\sum_{k=0}^m \binom{m}{k} q^{kx} E_{n+k, \chi, q}^{(r)}(y) [x]_q^{m-k} = \sum_{k=0}^n \binom{n}{k} q^{-kx} E_{m+k, \chi, q}^{(r)}(x+y) [-x]_q^{n-k}. \tag{2.10}$$

**References**

[1] S. Araci, M. Acikgoz, A note on the Frobenius–Euler numbers and polynomials associated with Bernstein polynomials, *Adv. Stud. Contemp. Math.* 22 (3) (2012) 399–406.  
 [2] M. Cenkci, M. Can, Some results on  $q$ -analogue of the Lerch zeta function, *Adv. Stud. Contemp. Math.* 12 (2006) 212–223.

- [3] M. Cenkci, Y. Simsek, V. Kurt, Further remarks on multiple  $p$ -adic  $q$ - $L$ -function of two variables, *Adv. Stud. Contemp. Math.* 14 (2007) 49–68.
- [4] E. Deeba, D. Rodriguez, Stirling's series and Bernoulli numbers, *Am. Math. Mon.* 98 (1991) 423–426.
- [5] D.S. Kim, N. Lee, J. Na, K.H. Park, Identities of symmetry for higher-order Euler polynomials in three variables (I), *Adv. Stud. Contemp. Math.* 22 (1) (2012) 51–74.
- [6] D.S. Kim, T. Kim, S.-H. Lee, J.-J. Seo, Symmetric identities of the  $q$ -Euler polynomials, *Adv. Stud. Theor. Phys.* 7 (2013) 1149–1155.
- [7] T. Kim, New approach to  $q$ -Euler polynomials of higher order, *Russ. J. Math. Phys.* 17 (2010) 218–225.
- [8] T. Kim, Symmetry  $p$ -adic invariant integral on  $\mathbb{Z}_p$  for Bernoulli and Euler polynomials, *J. Differ. Equ. Appl.* 14 (2008) 1267–1277.
- [9] B. Kurt, Some formulas for the multiple twisted  $(h, q)$ -Euler polynomials and numbers, *Appl. Math. Sci. (Ruse)*, 2011, pp. 1263–1270.
- [10] H. Ozden, I.N. Cangul, Y. Simsek, Multivariate interpolation functions of higher-order  $q$ -Euler numbers and their applications, *Abstr. Appl. Anal.* (2008) Art. ID 390857, 16p.
- [11] S.H. Rim, J. Jeong, On the modified  $q$ -Euler numbers of higher order with weight, *Adv. Stud. Contemp. Math.* 22 (2012) 93–98.
- [12] S.H. Rim, J. Jeong, Identities on the modified  $q$ -Euler and  $q$ -Bernstein polynomials and numbers with weight, *J. Comput. Anal. Appl.* 15 (2013) 39–44.
- [13] Y. Simsek, Complete sum of products of  $(h, q)$ -extension of Euler polynomials and numbers, *J. Differ. Equ. Appl.* 16 (2010) 1331–1348.